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Treat the following questions.
Exercisel
Solve the following system:

F°93% $220
x?=3x +220

Exercise 2

Nada deposited in her account a capital of 3000 at an annual interest rate 3%

compounded monthly.

a) Determine the future value in her account after 2 years.
b) Find the amount of the interest reported by the initial capital.

Exercise 3

The following curve (C) is the representative curve of a function f defined by:

ax+b

fx)=

X+c

...............

...............

1) Use the curve to calculate a, b andc.

: 2x—
2)  let f(x)=22
X

- defined over‘J{—{—l} .




a) Calculate the derivative of f . Then construct its table of variations.
b)Write the equation of the tangentto (C) at A(-3:4) .
3) Solve graphically: a) f(x)=0 b) f(x)<O0.

Exercise 4

Given the function f defined over ]—w;U[u ]0;+oc-[ by f(x) =x +2 —3.

o

And designate by (C) its representative curve in an orthonormal system of axes.
a-Determine _Iimo / (x) then deduce an asymptote to (C).

b-Prove that the line (d) of equation y = x+2 is an asymptote to (C).
¢- Study the relative position of (C) and (d)
d- Prove that f is strictly increasing over ]-0;0[ LU |0;+c0[ then construct its table of

variations.
e- Determiner the point of intersection of (C) with the x-axis then construct (C).

Exercise 5
A factory produces T-shirts where 60% are of size 1 and the others are of size2.We
conclude that: 3% of the T-shirts of size 1 are defective in color and 2% of the T-shirts of

size 2 are defective in color. We note that:

T] : is the event «the T-shirt is of size 1 »

T2 . is the event «the T-shirt is of size 2 »

C:is the event «the T-shirt is defective in color »

A client chooses, at random, a T-shirt produced by this factory.
Calculate the probability of each of the following events:

1. 15 C/Tt ,CNT,,C AT, thendeduce P(C).
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Traiter les questions suivantes.
Exercicel
Résoudre le systéme suivant:
xX+3x +220
¥5=3% £220

Exercice 2
Nada a déposé 30005 dans son compte d’épargne a un taux annuel d’intérét composé
de 3% .la période de conversion est de 1 mois.

a) Déterminer le montant de son compte aprés 2 ans.

b) Trouver les intéréts rapportés par le capital initial.

Exercice 3
La courbe (C) donnée ci-dessous est la courbe représentative de la fonction f définie
: ax+b
S)=
par: x4c

104

1) Utiliser la courbe pour calculer a, b et c.
2x —

2] Sl M= définie sur ‘R—{—I} .

X
Xk




a-Calculer la dérivée de /. Puis construire le tableau de variations de f.
b-Ecrire I’équation de la tangente a (C) en A(-3:4) .
3) Résoudre graphiquement:a) f(x)=0 b) f(x)<0.

Exercice 4

On donne la fonction f définie sur |—e0:0[ U ]0;+o0[ par f(x)= x il

On désigne par (C) sa courbe représentative dans un repére orthonormé d’axes.
a-Déterminer ]im0 f (x) puis déduire une asymptote a (C).
X —

b- Montrer que la droite (d) d’équation y = x+2 est une asymptote a (C).
c- Etudier la position relative de (C) et (d)
d- Montrer que f est strictement croissante sur ]—oc;()[u ]0; +oo[ puis construire le

tableau de variations de f.
e- Déterminer les points d’intersection de (C) avec I'axe des abscisses puis tracer (C).

Exercice 5

Une usine fabrique 60% des chemises de taille 1 et les autres sont de taille 2.0n
constate que : 3% des chemises de taille 1 présentent un défaut de couleur et 2% des
chemises de taille 2 présentent le méme défaut. On note :

Tl :L'événement « la chemise est de taille 1 »

Tz : L’événement « la chemise est de taille 2 »

C:I'’événement « la chemise présente un défaut »
Un client choisit, au hasard, une chemise fabriquée par cette usine.
Calculer la probabilité de chacun des événements suivants :

T B, C/T1 , C T, , CNT, puis déduire P(C) .
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